## **Fort Bend County Tabulation**

## RFQ 2015-24 Fresh Produce

Term: April 1, 2015 - June 30, 2015

## Lawson # 11978

Fresh Produce Vendors		Brothers	Produce	Invoiced Unit Price	Schoenmar	n Produce	Invoiced Unit Price	Labatt Fo	od Service	Invoiced Unit Price	
FRESH VEGETABLES Term: April 1, 2015 - June 30, 2015	Estimated Monthly Usage	Unit	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.
CABBAGE, GREEN:  Packaging: 50 LB Bag  Vendor to input below ▼: \$Cost/Lb.	1500	Pound	0.2300	\$345.00	\$11.50	0.2500	\$375.00	\$12.50		\$0.00	
CABBAGE, RED:  Packaging: 25 LB Box  Vendor to input below ▼: \$Cost/Lb.	250	Pound	0.3200	\$80.00	\$8/25lbs	0.3500	\$87.50	<b>\$17.50</b>		\$0.00	
CARROTS, JUMBO: Packaging: Loose 50 LB Bag Vendor to input below ▼: \$Cost/Lb.	100	Pound	0.2300	\$23.00	<b>\$11.50</b>	0.2350	\$23.50	<b>\$11.75</b>	0.2500	\$25.00	\$12.50
CELERY:  Packaging: 36 1's Box  Vendor to input below ▼: \$Cost/Lb.	1000	Pound	0.3500	\$350.00	\$17.50	0.3600	\$360.00	\$18.00		\$0.00	
CILANTRO:  Packaging: 1 lb bag  Vendor to input below ▼: \$Cost/Lb.	10	Pound	0.6500	\$6.50	\$2.60	0.6300	\$6.30	\$12.50		\$0.00	
CUCUMBERS:  Packaging: 54 count case  Vendor to input below ▼: \$Cost/Lb.	350	Pound	0.4000	\$140.00	\$16.00	0.4400	\$154.00	\$18.00		\$0.00	

<b>LETTUCE:</b> Packaging: Unwrapped 24 1's Vendor to input below ▼: \$Cost/Lb.	3000	Pound	0.4400	\$1,320.00	\$17.60	0.3900	\$1,170.00	<b>\$19.95</b>	0.4371	\$1,311.30	\$19.67
Packaging: 4/5lb  Vendor to input below ▼: \$Cost/Lb.	40	Pound	0.7400	\$29.60	\$14.80	0.7750	\$31.00	<b>\$14.50</b>	1.0815	\$43.26	\$21.63
LETTUCE, ROMAINE CHOPPED:  Packaging: 6bags of 2lbs each. 12lb case/box  Vendor to input below ▼: \$Cost/Lb.	96	Pound	1.3400	\$128.64	\$16.08	1,2900	\$123.84	\$13.50	1.5210	\$146.02	\$18.25
Packaging:  Vendor to input below ▼: \$Cost/Lb.	100	Pound	0.6750	\$67.50	\$13.50	0.6750		\$13.50	0.8125	\$81.25	\$16.25
MUSHROOMS:  Packaging: Inst Pak 10 LB  Vendor to input below ▼: \$Cost/Lb.	200	Pound	1.5500	\$310.00	\$15.50	1.4850		\$14.85	1.7180		\$17.18
ONIONS, GREEN:  Packaging: 48 1's Box  Vendor to input below ▼: \$Cost/Lb.	4	Pound	1.6000	\$6.40	\$16.00	1.5000		\$15.00	1.7100	\$0.00	φ17.10
ONIONS, YELLOW:  Packaging: 50 LB Bag  Vendor to input below ▼: \$Cost/Lb.	009	Pound	0.2500	\$150.00	\$12.50	1.2500	\$750.00	\$12.50		\$0.00	
ONIONS, MEDIUM, RED: Packaging: 25 LB Bag Vendor to input below ▼: \$Cost/Lb.	100	Pound	0.5800	\$58.00		2.1000		\$10.50		\$0.00	
PEPPERS, BELL, MEDIUM:  Packaging: 25 LB Box  Vendor to input below ▼: \$Cost/Lb.	200	Pound	0.6400	\$128.00	\$16.00	0.7000	\$140.00	\$17.50		\$0.00	

	pı									
200	onu									
	Ь		44.40.00	440 F (8 F))	0.7.100	<b>44.40.00</b>	<b>0.40.70</b>		40.00	
		0.7400	\$148.00	\$18.5/25lbs	0.7400	\$148.00	\$18.50		\$0.00	
	_									
9	onno									
- '	Pc									
		0.4400	\$17.60	\$8.80	0.4600	\$18.40	\$18.50		\$0.00	
8	pu									
300	Pou									
		0.2700	\$810.00	\$13.50	0.2800	\$840.00	\$14.00	0.2750	\$825.00	\$13.75
		J.27 00	Ψ020:00	<b>410.00</b>	3.2000	ψο 10.00	Ψ11.00	3.2730	ψ <b>023.</b> 00	Ψ13.73
00	nnd									
7	Por									
		0.4.00	<b></b>	445.00		<b></b>	***		<b>*</b> = 0 0 0	***
		0.2600	\$52.00	\$13.00	0.2700	\$54.00	\$13.50	0.2950	\$59.00	\$14.75
8	Pound									
1										
		0.3300	\$33.00	\$16.50	0.3000	\$30.00	\$15.00		\$0.00	
	þ									
350	unc									
``	P									
		0.6800	\$578.00	\$17.00	0.6200	\$527.00	\$15.50		\$0.00	
						,			,	
	p									
48	onu									
1	P									
		1.3000	\$62.40	\$15.60	1.3300	\$63.84	\$16.00		\$0.00	
0	pur									
2	Pot									
		0.7600	\$15.20	\$22.80	0.8100	\$16.20	\$24.50	1.0180	\$20.36	\$30.54
	850 100 200 3000 40	d Pound Pound Pound Pound Pound Pound Pound Pound	0.7400  0.7400  0.7400  0.4400  0.2700  0.2600  0.3300  0.6800  1.3000	0.7400       \$148.00         0.7400       \$148.00         0.7400       \$17.60         0.7400       \$17.60         0.7400       \$17.60         0.7400       \$17.60         0.7400       \$17.60         0.2700       \$810.00         0.2600       \$52.00         0.3300       \$33.00         0.6800       \$578.00         88       1.3000       \$62.40         0.0       \$62.40	0.7400       \$148.00       \$18.5/251bs         00       0.4400       \$17.60       \$8.80         00       0.2700       \$810.00       \$13.50         00       0.2600       \$52.00       \$13.00         00       0.3300       \$33.00       \$16.50         08       0.6800       \$578.00       \$17.00         88       0.6800       \$62.40       \$15.60	0,7400	O	0,7400	0.7400	0.7400   \$148.00   \$18.5/251bs   0.7400   \$148.00   \$18.50   \$0.00

SPINACH:											
Packaging: 2 LB Bags	20	Pound									
Vendor to input below ▼: \$Cost/Lb.	2	Pot									
			1.3500	\$27.00	\$3.37/2.5lb	1.4500	\$29.00	\$14.50	3.1250	\$62.50	\$6.25
Fresh Produce Vendors			Brothers	Produce	Invoiced Unit Price	Schoenman	Schoenmann Produce		Labatt Fo	od Service	Invoiced Unit Price
RFQ 2015-24 FRESH FRUIT Term: April 1, 2015 - June 30, 2015	Estimated Monthly Usage	Unit	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.	Price per Unit (Max. of 4 decimal places)	Monthly Cost	Price as Invoiced per unit/ Per Case/Pound/Package/Etc.
APPLES, RED DL:				I							
Packaging: 125 or 138 (40 LB Small) whichever is cheaper	00	pu									
Vendor to input below <b>▼</b> : \$Cost/Lb.	4000	Pound									
•			0.5900	\$2,360.00	\$23.60	0.6700	\$2,680.00	\$26.95	0.7268	\$2,907.20	\$29.07
AVACADOS, HAAS:				+ <b>-</b> , <b>-</b> • • • • •	7-2100		+-,	7-000		7-72 0 1 1 - 0	4-200
Packaging: 35 1's	10	Case									
Vendor to input below ▼: \$Cost/Lb.	1	CE									
DANAMAS STAGE A			32.6500	\$326.50	\$32.65	1.3000	\$13.00	\$32.50		\$0.00	
BANANAS, STAGE 4: Packaging: 40 LB Box		7									
Vendor to input below <b>▼</b> : \$Cost/Lb.	2000	Pound									
volues to input octor v. \$coss 20.		Ь	0.3870	\$774.00	\$15.48	0.3900	\$780.00	\$15.50	0.5470	\$1,094.00	\$21.88
LEMONS:		$\vdash$	0.38/0	φ// <b>4.</b> 00	φ15.4δ	0.3900	φ/δυ.υυ	φ13.30	0.3470	\$1,0 <del>94</del> .00	φ21.08
Packaging: 200 1's (or 235 1's)		es									
Vendor to input below ▼: \$Cost/Lb.	3	Cases									
			28.2500	\$84.75	\$28.25	0.6600	\$1.98	\$26.50		\$0.00	
LIMES:											
Packaging: 200 1's (or 235 1's)	3	Cases									
Vendor to input below ▼: \$Cost/Lb.	ļ (;,	Ca									
			42.0000	\$126.00	\$42.00	0.5000	\$1.50	\$20.00		\$0.00	

ORANGES:  Packaging: 38 LB Box, (113 TO 138 count, cheapest)  Vendor to input below ▼: \$Cost/Lb.	4000	Pound		\$2,040.00	\$19.50	0.5000	\$2,000.00	\$19.95	0.6668	\$2,667.20	\$26.67
PEARS, Bartlett:  Vendor to input below ▼: Packaging	100	Pound	0.7800	\$78.00	\$31.00	0.7500	<b>\$75.00</b>	\$30.00		\$0.00	
CANTALOUPE:  Vendor to input below ▼: Packaging	100	Pound	0.4500	\$45.00	\$17.10	0.4100	\$41.00	<b>\$16.50</b>		\$0.00	
WATERMELONS, Seedless:  Vendor to input below ▼: Packaging	25	Each	7.0000	\$175.00	\$7.00	0.6500	\$16.25	\$6.50		\$0.00	